normalized X?

Entries

0 2 4 6 8 10 12 14 16 18 20

XZ

[ normalized x? probability |

' |\||n
0'80 0.10. 2 o 3

40.

N T
P
o

6

m=_== DQM_TT__mkFit-DQM_original-0

e DQM_TT__mkFit-DQM_original-127

A = 5F
5 £ ]
c A 4. sheee-
3 - ;
= |
v o E ¥
s 2k o
VoogEeed Hol-H
OE_. 0:. N . .....
- ' :
“2feee ;
_3;_. . .....
,4;_ ...... E. .....
E i i
o ] 1 o 5 . *
T 1.05F - - {- -] S - T 2 3
o ] ] o :
-1 1 Fooq-pe---- :
0.95F -+ } . EEEE B RPPP oo ] T
R 1T 2 3 = 12

A
k<]
c
N
3
>
\"
o 1)
T
@
[
B E
A .
- E
e E.
e 3
o E
) -
v E
—3F- ) :
_4:—- : - E-RB-FAH----- : .........
° 5: j i
§ Fo U UTEITREE T HER
05f-- -+ SR B BT R R PP PPRES
o~ -
10 1

< X2/ ndf >

Ratio

3
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

107 1072

1 -1
AR(track, jetg)



	Contents
	Page 1


